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Variables object is flattened into rows
(maybe using reselect?)
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tId": "obj/1c", action with the payload {expanded, id}. It

e": false, updates expandedNodes, which triggers
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Hidden rows are filtered
and properties are derived
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value": 1f, ExpandableCellRenderer receives each
S A object. It uses the depth to calculate the
LG B e indentation.

ExpandableCellRenderer also receives an
onClick function. It uses the expandable/
expanded property to determine whether to
show the twisty. When clicked, it uses an



